In[5]:=

(#3.1 8, E3.3{ERi«)
(*= (3.5)&D y_max/1 ER¥HB. GospodneticihXICE TR E +)
(+FIEDKESP122/EI => q2 (&, K (3. 7) CEHE TS +)
Clear["Global™ %"]
Print["psi[deg] y_max/1  (P172/EI) "]
1stl = {}; 1st2 = {}; p2 = (1/Sqrt[2]) ~2;
Do[
psi@ = Pi /40 % i; phi = ArcCos [Sqrt[Sin[psi@]]];

(*»psie=0 DEECIE, FEBHEANDIDT, TNEEEHT S )
If [i<=0, {psi@ = 0.0001; phi = ArcCos [Sqrt[Sin[psi®]]1]}]1;

fn = N[Re[ (-E1lipticK[p2] + EllipticF[phi, p2]
+2 % E1lipticE[p2]
-2 % EllipticE[phi, p2])]1;
ymaxl = (Sqrt[2] * Sin[psi@] x Cos[phi] - Cos[psi@] » fn) /
(Sqrt[2] * Cos[psi@] » Cos[phi] + Sin[psi@] » fn);
g2 = Cos[psi@] » (Sqrt[2] * Cos[psi@] x Cos[phi] + Sin[psi@] » fn) ~2;
psi@deg = N[psi@ » 180 / Pi];
1stl = Append[1stl, {N[psi@deg], ymax1l}];
1st2 = Append[1st2, {N[psi@deg], q2}];

Print [N[psi@deg], " , ", PaddedForm[ymaxl, 5], " , ", PaddedForm[q2, 5]], {i, @, 20}]
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psi[deg] y_max/1  (P172/EI)
0.00572958 , 0.000066667 , 0©0.0002
4.5 , 0.052406 , 0.15611

9. , 0.10509 , 0.30648

13.5 , ©.15834 , 0.44563

18. 0.21244 , 0.56863

-

22.5 , 0.26772 , 0.67129

27. 0.32451 , 0.75039

-

31.5, ©0.38318 , 0.8038

36. 0.44415 , 0.83056

-

40.5 , 0.50791 , 0.83091

45, 0.57499 , 0.80626

-

49.5 , 0.64602 , 0.75908

54. 0.72178 , 0.69272

-

58.5 , ©.80317 , 0.61128

63. 0.89128 , 0.51933

-

67.5 , ©.98747 , ©0.42165
72. , 1.0934 , 0.32302
76.5 , 1.2114 , 0.22792
81. , 1.344 , 0.14034
85.5 , 1.495 , ©.063559

99. , 1.6693 , 0.

In[8]:= ListLinePlot[{lstl, 1st2}, Frame -» True, GridLines -» Automatic,

Joined - True, FrameLabel » {"Psi", "ynax/1, PL?/EI"}]
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nitop= Print ["psi[deg] psi[rad]

Do

psi@ = Pi /180 x i;

phi = ArcCos[Sqrt[Sin[psi@]]];

(P172/EI)

cp3-1Gospodnetic.nb | 3

y_max/1"]

fn = N[Re[ (-E1lipticK[p2] + EllipticF [phi, p2]

+2 % E1lipticE[p2]

-2 % EllipticE[phi, p2])]1;

ymaxl = (Sqrt[2] * Sin[psi@] = Cos[phi] - Cos[psi@] » fn) /

(Sqrt[2] » Cos[psi@] » Cos[phi] + Sin[psi@] = fn);

g2 = Cos[psi@] » (Sqrt[2] * Cos[psi@] x Cos[phi] + Sin[psi@] » fn) ~2;

Print[i,

", ",N[psio], " , ", PaddedForm[q2, 9], " , ", PaddedForm[ymaxl, 7]],

{i, 38.2, 38.4, 0.01} ]

psi[deg] psi[rad]
38.
38.
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38.
38.
38.
38.
38.
38.
38.
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38.
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)

)

)
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0.666716

Q.

Q.

Q.

Q.

66689

667065

.667239

.667414

.667588

.667763

.667938

668112

668287

0.668461

Q.

Q.

Q.

Q.

668636

66881

.668985

.669159

.669334

.669508

.669683

669857

670032

0.670206

P

P

P

P

3

)

)

)

)

)

(P

172/ET)

0.833969495

0.833970727

0

0

.833971831

.833972807

.833973655

.833974375

.833974967

.833975431

.833975766

.833975974

0.833976053

0

.833976005

0.833975828

0

0

.833975524

.833975092
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)

)

)

)

)

P

P

P

P
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0.4749442

0.4750857

Q.

Q.

Q.

Q.
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Q.

4765021
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Q.

Q.
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Q.

Q.
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2= (%xPsi@=38.3 deg {FiLTy_max/1 HERK{E«)



